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What is the measure of the angle formed by the hands of the clock when it is 4:30 p.m.?

A 15° B. 30° C. 45° D. 60° E. 42.5°

In the given circle with center E, mZAEB = (4x +18)°, mLBEC = (Sx+4)°,
mZCED = (3x +4)°, and mLAED = (5x ~6.)° Find x.
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A 10 B. 20 C. 30 D.5 E. 17

Consider six circles which are internally tangent to a rectangle and pairwise tangent to
each other as shown below. The dimensions of the rectangle are 6” by 4”. How many
square inches is the area of the shaded region (outside the circles and inside the

rectangle)?

A, 24 - 24n B. 24 -6n C.24-3n D.12-0x E.24 - 12=n

The distance between the centers of two tangent circles with radii ry and r; is always: (Let
no>ry)

K- h D. |r]|—[r2| IE. None of these

A1+ B.r-r C.

Write the equation of the line which is the perpendicular bisector of the segment whose
end points are (4,-6) and (8,0).

A x+3y-3=0

B. 2x+6y-6=0
C.4x-6y—~6=0
D. 2x+3y-3=0
. 2x-6y—-6=0



10.

The measures of one interior angle of a regular polygon is 135°. The polygon is a(n):

A, pentagon C. heptagon E. decagon
B. hexagon _ 1. octagon

Consider the square below. Two semicircles are drawn each passing through 2 vertices
and the center of the square whose sides have length 4 units. How many square units is
the area of the shaded region?

An+?2 B.t+4 C.2n—-4 D.2n-2 E.2n+2

Find the value of x. —

..........

A 42 B. 37 C. 47 D. 52 E. 45

The diagonal of a rectangle has length 10 inches and the perimeter is 28 inches. How
many square inches is the arca of the rectangle?

A 12 B. 16 C.24 D. 36 k. 48
The area of triangle XYZ is 8 square inches. Points 4 and B are midpoints of congruent

segments XY and XZ. The altitude is XC . The area (in square inches) of the shaded
region 1s: X
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12.

13.

14.

A square and an equilateral triangle each have a perimeter of 1 meter. Let A be the area
of the circle circumscribed about the square and let B be the area of the circle
circumscribed about the triangle. Find the ratio A/B.

) 2
A.—g— B. 3 C. 27 D. §~[6— E. 1
16 4 32 8

A triangle and a square have the same base and equal areas. If the length of the common
base is x and the height of the triangle is A, what is the height of the triangle in terms of x?

B. 2 C. 2x D.EJE E. 4x

A
3 2

I |

A square of maximum area is inscribed in a semicircle of radius R as shown. What is the
area of the square?

I ABDC is a thombus and ABD is an equilateral triangle, and AD = 4 inches, what 1s the
area of the thombus?

A R

Note: Figure may not be drawn to scale.

A, 42 it B. 443 in’ e 102 pogf3in? B6ind

NE
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A round table top with center O has these dimensions . OF is7 in., DR is 48 in., and
DB L AC . Find the length of AC .

A. 14 inches B.25inches C.350inches D.28inches E. 38 inches

An isosceles trapezoid has vertices at (-2, 1), (2, 1), (5, -1), and (-5, -1). Find the
measure of each diagonal.

A. /53 B. 10 C. 4 D. V13 E. 20

The diagonals of a quadrilatecral MNOP intersect at X. Which statement guarantees that
MNOP is a rectangle?

A. MO=NP

B. <PMNz=<MNQ =<NOP

C. MX=NX=0X=PX

D, MO L NP

E. Each pair of consecutive angles is supplementary

In A RST, SU is the perpendicular bisector of RT and U lies on R7 . Which statemen(s)
must be true?

I. A RST s equilateral.

I ARSU = ATSU

I11. The ray SU is the bisector of <RST

A.Tonly B. Il only C. Ml only  D.ITand HI only E. 1 1 and I

In A ABC, the measures of <A, <I3 and <C are in the ratio 2: 5: 5 respectively.
m<B =

AL T5° B. 60° C.30° D. 40° k. 100°
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Find the geometric mean of 3x and 3p.

A3y By C.3Jx+y  D.y3(x+Y) E. 9xy

AB and AC are tangent to circle O at B and C. If the measure of minor arc BC is x, then

m<BAC =

A x B. 180 —x C.360 -x D, 180 +x E. Yax

The locus of the centers of all 8¢m chords in a circle of radius Semisa __.

A.point - B.segment C. line D. ray E. circle

The diagonal of a rectangle is equal to the sum of the length of the shorter side and one-
half the length of the longer side. Find the ratio of the length of the shorter side to the

length of the longer side.

A.2:3 B. 34 C. 1:4 D. 1.2 B.2:5

Which of the following is not a Platonic Solid?

I. hexahedron
II. icosahedron
I11. octahedron
1V. dodecahedron

A Tand Il  B.onlyl C.only V D Il &V E. None of these

In the right triangle ABC, D is the mid point of A8 and CE 1. AB with point £ on
AB. The hypotenuse is AB. If CD =4 inches and BE = 5 inches, then CK 1s:

Ax/Zl_ inches B. 3 inches C.Z\/l—ﬁ inches D.\fﬁ inches L. None of these






